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Teacher’s Introduction

— S
This resource is designed to be used for teaching AQA A level Economics S \
4.1: Individuals, firms, markets and market failure. The resource consists of | A
12 Data Response Case Studies intended for students to complete as W \%\\
homework tasks. i Q\\\\\\X\s
. . . . . ° \\\\
The case studies are presented in specification order, collectively covering a \\
each topic in the A level specification, and revising the main topics from T \\\ \\\
lower-sixth. Each case study contains detailed information (including diagrams af: § -
S
The ‘Use the data’ tasks focus particularly on quantitative skills, and the ‘Test yo

/

i, ¢

knowledge and application skills. The extended-response questions are an oppo:

i

higher-level analysis and evaluation skills. Most of the questions given are in ex b\k\\\\\\

limited questions to this style except in the case of the extended-response ques S

provided for all tasks and questions. \\\\%\\\\‘\\\

& S

. . L \\\\\é\
Reading through each study and answering the questions is expected to take 20 s \

extended-response questions at the end of each case study. One option for usin
study in class and set the exam-style evaluation question as homework.

\\‘\

o
\\\\\\

This resource will help prepare students for the microeconomics component of
stimulate an interest in the real-world applications of microeconomics. Each ca
introducing the student to a fascinating array of contemporary microeconomic i

%,

4
4 Ay

| hope this resource helps you to bring economics to life for your students. \\\\\\\@
g
Case Study Spec:
1. Creative destruction in the business world 4.1.4 —  production, cos: \\\\\\\\\\
2.  The stock market — perfectly competitive? 4153 - perfect compety
4.1.54 - monopolisticc
3. Supermarket wars 4155 - oligopoly
4. Inertia in the energy market 4.1.5.5 - oligopoly
5. Diamonds are forever 4.1.5.6 - monopoly and
6. Contestability 4.1.59 - contestable an
7. Will raising the minimum wage harm 4166 — thenational m
employment?
8. Isthere a shortage of teachers? 4.1.6 —  the labour mar
9. Trade unions in the UK 4.1.6 —  the labour mar
10. The economics of inequality 4.1.7.1 - thedistributio CO PYR'GHT
11. For-profit universities 418 - themarket me PROTECTED
government in
12. The European Competition Commission 4.1.8.7 - competition p

Free Updates!

IO l 9

Register your email address to receive any future free..
made to this resource or other Economics resources y
has purchased, and details of any promotions for you

* resulting from minor specification changes, suggestions from teacheré::
and peer reviews, or occasional errors reported by customers

o3

Education |

Go to zzed.uk/freeupdates

A Level AQA Data Response Case Studies: 4.1 Microeconomics Page 1 of 37



Creative Destruction in the Bu

This case study requires knowledge of Section 4.1.4 — production,

In modern economies, businesses start up and go bust
very frequently, as technology evolves and consumer
tastes and preferences change, among other factors. In the
1940s, the Austrian economist Joseph Schumpeter
described this process as a “gale of creative destruction’.

In the UK, high streets have always changed over time,
with new shops coming in to replace existing
underperformers. Tables 1 and 2 show the top 10 business
closures and openings by classification for the first six

months of 2015 (based on the UK’s largest 500 towns):
Table 1: top business openings Table 2: top busi
Classification Net change | Net cljange Classification i
(%) (units)
Barbers +4.7 118 Clothes —wom
Mobile Phones +9.4 86 Newsagents
Tobacconists +28.3 81 Public Houses and
Cafés and Tearooms +1.2 80 Jewellers
Restaurants and Bars +6.7 74 Restaurants — Ind
Hair and Beauty Salons +3.6 65 Night Clubs i
Nail Salons +4.2 51 Confectioners::
Beauty Salons +2.3 43 Discount Store
Restaurants — American +19.2 28 Hairdressers i
Health Clubs +5.0 25 Booksellers

Notably, the number of tobacconists jumped by 28.3% with the rise of e-c
discount stores fell by 6.3% (reversing the trend of rapid growth in the ye
Cafés / coffee shops continued their relentless rise: some have speculated
replace the pub as a traditional place to meet and socialise, particularly fo
Overall, there was a slight fall in the total number of high street shops, w
shops and 437 fewer chain shops. This could be due to competition from
captured a large part of the market in recent years), although the total nu
been increasing since 2012.

Some high-profile examples of chains that have had to close down in the
include Woolworths, JJB Sports and HMV. Both of the latter have been t
this often happens with large brand names that go bust.

Costs and revenues
When it boils down to it, a firm’s success depends on its revenues and co
theories about how a firm’s revenues and costs change depending how ms
This can help to predict how businesses should operate in order to meet
profit maximisation).
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In reality, it’s almost impossible to obtain complete cost and revenue dataf

experiment with every possible price/quantity combination (and even if t
demand and supply are likely to change over time). Nevertheless, it is sti
theory.

Figure 1 shows the partly completed costs and revenues for a fictional fisl*%
operates in the short run: they can hire more employees but they cannot oy

Figure 1: Ben’s fish and chip shop, costs and revenues

Portions sold 0 10 20 30 40 50
Price per unit 10 9 8 7 6 5
Cost of rent and 60 | 60 | 60 | 60 | 60 | 60
electricity
Wage bill 0 30 30 60 60 105
Cost of buying o | 30 | 40 | 45 | 60 | 50
ingredients
Total cost 60 130 180
Average total cost N/A 6.5 4.5
Average variable cost N/A 3.5 3
Marginal cost N/A 1 1.5
Total revenue 0 160 240
Average revenue N/A 8 6
Marginal revenue N/A 7 3 =
In order to increase the number of portions/units sold, the wage bill increé:

workers and has them work longer hours. The cost of buying ingredients
due to bulk discounts up to a point when they have to buy from another
cost.

Use the data

1. (a) Fillinthe blanks in Figure 1. (Note: when filling in the marginal cost an
calculate the MC/MR of one extra unit sold, not 10 extra units. Assum
across all 10 units — see examples already filled in.)

(b) Draw a diagram with goods sold on the x-axis and price on the y-axis.

on the diagram: average variable cost, average total cost, marginal cost:

revenue.

(c) Find the profit-maximising level of output by estimating where margin

(d) On aseparate diagram, roughly plot the total revenue and total cost ¢

(e) Find the profit-maximising level of output by estimating the point whe
total cost. Does this fit with your answer to (c)?

Test your knowledge...
1. (a) Usingthe data from Figure 1, identify one fixed cost and one variable ¢
(b) Explain what is meant by the law of diminishing returns, using an exam:
Figure 1.

2. Explain what is meant by the minimum efficient scale.

Extended-response question

1. Examine how the costs and revenues of a luxury tea shop might change in a:
downturn). =
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The Stock Market — Perfectly Co

This case study requires knowledge of Section 4.1.5.3 — perfeé

Perfect competition is a theoretical idea, and there are few real-
world examples of markets that are perfectly competitive. One
possible contender is the stock exchange.

The stock exchange is a global marketplace where millions of
buyers and sellers trade shares in companies. Owning a share in
a company means you have a small stake in the company’s
success — if the company does well, the share becomes more
valuable. Owning ‘stock” in a company is essentially the same
thing — it means the total number of shares you own. Owning
stock in a company is also referred to as having ‘equity’, a term
which also applies to partly owning a house (e.g. via a mortgage).

Companies benefit from being on the stock market, as it gives them access
variety of sources. Canny investors, using stock market information freely
also benefit if they can correctly guess the movement of share prices. Buyi:
time can be very lucrative, but it is inherently risky. .

Figure 1 shows the share price of Volkswagen, the German car manufactu;
of one share in VW in euros.

Figure 1: VW daily share price, March 2015 — March 2016
250
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VW’s share price nosedived in September 2015 after the emissions test Sca
by over €25. .

The share prices of many large companies are often combined into stock n
include the FTSE 100 (based on the 100 largest companies on the London &
Jones Industrial Average (based on 30 large stocks traded on American st
Composite Index (based on the share prices of large Chinese firms).
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Figure 2 shows the FTSE 100 index over time. The y-axis is a measure of K
the index are performing on average.

Figure 2: FTSE 100 Index, March 2015 — March 2016

7000 i NN
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After peaking at over 7,000 in April 2015, the FTSE 100 has performed wez
in January 2016 (which means that the index is at least 20% below its high:
jargon, a ‘bear” market is simply one in which prices are falling, while a ‘bs
rising prices. .

Note: If you're still not entirely sure how the stock exchange works, watc}f
https:/fwww.youtube.com/watch?v=F3QpgXBtDeo -

Use the data
1. (a) LookatFigure 1. In September 2015 do you think there were more sel
(b) Suppose you owned 500 shares in VW. Calculate the change in value ¢
2015 and February 2016.

2. If the FTSE 100 index reached 8,500, what number would it have to reach tc

Test your knowledge...
1. Name one possible example of a perfectly competitive market (other than t

2. Using revenue and cost curves, show the long-run equilibrium of a firm in a

Extended-response question
1. Evaluate how well the stock market exhibits the characteristics of perfect c

A Level AQA Data Response Case Studies: 4.1 Microeconomics Page 5 of 37

i
"
&‘\‘\\‘\“\\‘\\;\&\\\\‘Q\\

-
s

&

e
-
.’y

HE
,—-

i,
i

i

&X\\\\\\X\\\
s

S

b
S

&\\\\\\\\\\\\\ﬁ

e

i

&
o

i

o

i

gt

i

g

////////

e

///,;/‘%,

7

COPYRIGHT
PROTECTED

g

o3

Education |




Supermarket Wars

i
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This case study requires knowledge of Section 4.1.5.4 — monopolistic comp

The landscape in the UK grocery market has been changing over the past
‘discounters’ such as Aldi and Lidl have emerged as big players in the m
such as Tesco have struggled. Figure 1 shows how Aldi and Lidl’s mark
expense of their larger rivals:

3

Figure 1: Change in grocery market share, selected retailers (2013-201%

35% @\\\\\\\\
30% - s\x\\\\\§
i s
o SEEEE
SR
o 2% § \\§
g &
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w o
B 20% 1 \\\\\2@\\\\\\
g s
Z 15% -
[ R
2
© 10% A i W
\\ =
9
% 1 "
0% - N .@\‘ﬁ
Tesco Asda Sainsbury's Morrisons Alg: \\\\\\\\\\
NJan-13 #Jan-14 §Jan-15
This could be an indication that the supermarket business, usually
considered an oligopoly, is shifting closer to monopolistic
competition, similar to that seen in the market for local
convenience stores.
Evidence 1(zf thlshihlilft can Ee s;gn 411r1 thael If)rlccelz WT.I‘S be’;\};veilK . COPYRIGHT
supermarkets. ovember 2014, total food sales in the ell for
P - PROTECTED

the first time in 20 years as prices tumbled. The competition was
particularly fierce over the Christmas period in 2015. Aldi’s move
to cut the price of parsnips to 39p a bag triggered swift responses
from Morrisons, who offered a 4kg bag of vegetables for just £1,
and Lidl who cut packs of vegetables to a mere 29p. Tesco and
Asda’s sales in the run-up to Christmas suffered, with sales falling
around 3.4% compared to the same period in 2014.

o3

Education

Combined with low commodity prices, price wars have meant
consumers have benefited from pleasantly low prices.
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Although the traditional incumbent firms such as Tesco continue to benef:
brand loyalty, Aldi and Lidl have succeeded in part by adapting their in-s;
stores offer a smaller range of goods, and far fewer staff operate tills and =
by the fact that sell-by dates are not included on products). These measur;
production to a minimum. In this way, Aldi and Lidl are differentiated fre:
supermarkets, who typically competed only on price and quality. .

Use the data

1. Using Figure 1, calculate the change in the four-firm concentration ratio bet

2. Using revenue and cost diagrams, and assuming that both firms aim to max
afford to charge lower prices than Tesco.

Test your knowledge...

1. (a) Define the term ‘economies of scale’. -
(b) Explain two ways in which large supermarkets could benefit from econg

Extended-response question

1. Assess whether the characteristics of the UK supermarket sector are those
monopolistic competition. 5

A Level AQA Data Response Case Studies: 4.1 Microeconomics Page 7 of 37
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Inertia in the Energy Ma

This case study requires knowledge of Section 4.1.5.5 —

It is well known that asymmetric information can lead to market failures.

car salesman who convinces his customers that his cars are worth more th
has better knowledge of the car’s true value.

Another market that has been suspected of suffering from asymmetric inf
market. The vast majority of energy in the UK is supplied by a few large,
companies — the “Big Six’. Figure 1 shows the market share for these com

the market supplied by independents has increased from almost zero in 2

dominated by the Big Six:

Figure 1: Share of UK energy market (2014)
Independent

suppliers
8%

Scottish Power
11%

Energy = electricity and gas.

Energy prices tend to benefit those who ‘shop around’ a lot in the market. .
deals to new customers who switch providers, and usually offer the worst :

who stick with the same provider.

This would work well in a market with symmetric information between

firms and consumers, as customers would switch regularly to get the best

deals. However, it is argued that comparing energy costs is overly
complicated, and that the procedure for switching can be difficult. As
such, only the most well informed (often the better-off) consumers reap
the benefits of switching providers, while most of the population are

stuck with high tariffs. One government report, analysing Quarter 12012

to Quarter 2 2014, found that 95% of consumers could save by switching
supplier (or tariff type), at an average saving of £158-£234 a year.

A Level AQA Data Response Case Studies: 4.1 Microeconomics Page 8 of 37
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It has been argued that the market has become less competitive over time.

estimated costs of energy production with the average standard variable t
of energy bill that fluctuates in price):

SRR
-

S

S
\ ~~~~~~~~ \\\\\ e

N«-

SNy R
\\\\\\ ‘.e“

e o S RN

«'\ SN
.§\\
\‘l\
o \\\'.\\\\\\‘m\\
AR
\.,»o‘

™

AR Average standard va

Estimated direct costs (\
(Ofgem Supply Marke:

Source: Competition & Markets Authority — ener:
Note that indirect costs are not included (e.g. insurance, depreciation)

Consumer distrust in energy suppliers currently stands at 59%, making e

consumer industry sectors. There are likely to be ongoing battles betweer:

suppliers in the future to make sure the market is competitive and outcomn:

Use the data

1. UsingFigure 1:
(a) Calculate the three-firm concentration ratio for the energy market in 2
(b) Calculate the six-firm concentration ratio.

2. Based on the article:
(a) State one reason why competition might be increasing in the energy m
(b) State one reason why competition might be decreasing in the energy

3. Based on the article, what is the main source of market failure in the energy.

Test your knowledge...

1.  Which of the following best describes the UK energy market — (a) perfect ca
competition, (c) oligopoly, (d) monopoly?

2. Explain why ‘vertical integration’ might be a barrier to entry in the energy m

Extended-response question

1. Discuss the effectiveness of a government policy to increase competition in
subsidising new entrants in the market for the first few years.
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Diamonds Are Foreve§§

This case study requires knowledge of Section 4.1.5.6 — monopoly a3

Most people are familiar with the idea of a monopoly, but there are :
relatively few examples of true monopolies. One infamous example of bo:
a monopoly and a monopsony that has been well studied is the diamond &
company De Beers. Although their monopoly power has substantially
waned since the turn of the millennium, in the twentieth century De Beers
dominated the diamond market, peaking at 90% market share in the 1980

De Beers’ success was partly due to their incredibly successful marketing :
campaign — they came up with the slogan ‘diamonds are forever’, and ma
people still feel obliged to buy a diamond ring to accompany a proposal. i
However, this marketing applied for all diamonds, not just De Beers .
diamonds. Their success was more to do with their ruthless control of
several stages of production.

De Beers gained control of the main diamond mines in South Africa, Tanz;
by absorbing its main competitors, paying the governments of host count
competitors to stockpile in warehouses. This allowed it to artificially rest
giving the illusion of scarcity and inflating prices. Using De Beers” mono
were then sold to trusted dealers at fixed prices, who then sold them to th

This system finally collapsed in 2004 when De Beers pleaded guilty to pri
Around the same time, other diamond companies found sources beyond
Canada and Australia, ending the monopoly. The diamond industry also
reputation, relating to wars in Africa funded by ‘conflict diamonds” (or bl
increased scrutiny from consumers and regulators. By 2012, De Beers’ m
50%. Figure 1 shows the market concentration of the main five firms in th;
Beers still being the largest):

Figure 1: Five-firm concentration ratio, diamond industry (2007-2015)
100%

80%

60%

40%

20%

0%

2007 2008 2009 2010 2011 2012

& Top five producers Others

Source: The Global DIGI‘\
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Figure 2 shows the world price of diamonds over time:

60,000

|

50,000

40,000

30,000

Price (2010 USS)

20,000

Figure 2: Average price of top-quality one-carat diamonds, 1978-2010

10,000 P

1978 1983 1988 1993 1998 2

Note: figures are real (i.e. adjusted for inflation). One-carat diamonds are often used in engagen;é:csf

The spike in 1980 was a price spike for many precious metals, as inflation
encouraged people to invest in commodities such as gold and diamonds,
safer value than currency).

Demand seems to have picked up in the last few years as the middle class
although the US remains the largest buyer of demands.

Use the data

1. Do you think De Beers’ monopoly of the diamond market was a natural mo

2. Which market structure best characterises the diamond market in recent ye
3.  How would Figure 2 change if diamond prices were not adjusted for inflatio
4

Explain how De Beers acted as a monopsony.

Test your knowledge...
1. (a) Define the term ‘supernormal profit’.
(b) Using a diagram, show the price and quantity of diamonds arising und
supernormal profit.

2. Explain two possible benefits of monopolies (not necessarily the diamond

Extended-response question
1. Using a diagram, explain why there may be a natural monopoly in some mat

%
3
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Contestability

This case study requires knowledge of Section 4.1.5.9 — contestable and

An important feature of many markets is how contestable they are. A cont
where firms are free to enter and exit the industry at little or no cost. Eve
firms (or even just one), if it is contestable then existing players in the mar
output as if they are in a competitive market, due to the threat of entry by

The classic example: US airlines

In the late 1970s and early 1980s when the contestability idea was first stu¢.
examples of a contestable market was the internal air-flight market in the 1

Survey data showed that the majority of non-stop internal flight routes in
route was only served by one firm.

Figure 1: Internal US flight routes (1980)

No. of monopoly markets
0-200 miles 425
201-400 miles 294
401-600 miles 140
601+ miles 302

Source: ‘The contestability of airline markets during the trans

The explanation for this is that there are economies of scale in the airline n
the aircraft, the lower the cost per passenger for the airline (declining ave

equilibrium number of flights per day (to benefit from the economies of s¢:

effect, these routes are natural monopolies.

Figure 2: Economies of scale in aircraft size

Flight length Aircraft Seats Average
passe
_ CV-580 56 6
500 miles B-737—200 130 4
) B-737-200 130 $6
1,000 miles B-727-200 162 S5
B-727-200 162 <8

1,500 mil
200 miles DC-10-10 380 6

Source: ‘The contestability of airline markets during the trans
Note: marginal and average costs assume aircraft is 75% full.

The interesting thing about this case is that the airlines didn’t charge high

there was always a possibility that another airline at each airport could en
market was contestable.

Note that in this case, although there were high sunk costs for completely
the fact that there were other airlines flying different routes who had alre
meant that the market for each route was contestable.
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Pharmaceutical drug prices in the US

A lack of contestability in the US market for Daraprim, a drug
used to treat a condition affecting some AIDS patients, caused
something of a scandal in 2015. A company called Turing
Pharmaceuticals bought the rights to produce and sell the
drug, and promptly increased the price from $13.50 a pill to
$750 a pill (in the UK these pills can be bought for about 50p
each).

In this case it was not a patent that prevented other companies from enter:
been around for over 60 years), but a complex and expensive regulatory p
producers to enter the market. Given that the market for Daraprim is very
prescriptions per year in the US), it would not be financially viable for anc
and undercut Turing.

This case highlights flaws in American regulation, where a system designe¢
poor-quality drugs can permit such blatant profiteering. .

Use the data

1. Using the article, identify one barrier to entry in the pharmaceutical drugs n

2. Using Table 1, calculate the proportion of all flight routes that were compet:

3. Using Table 2, calculate the total cost of a 1,500 mile DC-10-10 flight assum
filled.

Test your knowledge...
1. State two features of perfectly contestable markets.

2. Define the term ‘sunk costs’.

Extended-response question
1. Evaluate the extent to which the market for automobiles is contestable.
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The Economics of Inequcllii§§

This case study requires knowledge of Section 4.1.7.1 — the distributior;

Inequality is a hot topic in economics at the
moment. In 2014, French economist Thomas
Piketty released the results of an extensive
study on the changing pattern of income and
wealth inequality in the West over time (the
book is called Capital in the 21% Century). This
provoked a flurry of intense debate in
economics about the causes and consequences
of inequality.

Piketty’s main theory is that those who have
large wealth can increase wealth faster than
the average rate of economic growth in
society. He warns that, if unchecked, this will
lead to an undesirable concentration of
wealth in the hands of a small elite, at levels -
not seen since the eighteenth and nineteenth centuries. As such, more effé.
essential. .

Although there are some minor contentions with Piketty’s data, the overa:
in the West is generally accepted. However, not everyone agrees with Pik;
of inequality.

One argument is that technological change is the driving force behind inec
as low-skilled work is ever more easily replaced with machinery, the wag
low-skilled workers widens, leading to inequality. Workers who are repl
and the few who own the machines or are skilled enough to complement
is reminiscent of Keynes’ idea that one day, technology would advance to
would be limited to a few hours a day: an “age of leisure” (although he did
of this for inequality!).

An alternative theory is that demographic change is the key factor. In the
twenty-first centuries, the size of the working age population in advanced:
Combined with the reintroduction of ex-communist countries (such as Ch;
supply of labour was very high indeed, leading to lower wages. Since the :
return to labour, inequality grew. .

R,

Some argue that this trend will now reverse as population age and fertility
scarcer and wages will rise again. According to this viewpoint, Piketty’s g
unnecessary. .

Figure 1 shows historical UK data on inequality. The ‘dip’ in measures of:,
twentieth century is generally explained by the effects of World War II ang
redistribution by the government (not just in terms of taxes: the data in th
upward trend since the late 1970s indicates that we may be drifting back t
inequality levels, but economists are in disagreement about whether the tr
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Figure 2: Household income distribution in the USA, 2012 - Max

14%
Median  Mean
12%

10%

8%

6%

4%

2%

0%

Proportion of total households per income bracket

N
o“bz
g
http:/ [ ourworldindata.org/data/growth-and-d
Figure 3
Country USA Germany Brazil Haiti
Gini Index 411 30.1 52.7 60.8

Use the data

1. Look at the first panel in Figure 1 (with Income Share of Top 5% on the y-axi

of inequality?

2. Looking at Figure 2:
(a) What does this graph suggest about inequality in the US?

(b) Sketch how you would expect the graph to look for a more equal socie*;

(c) What would the graph look like for a perfectly unequal society?
(d) What would the graph look like for a perfectly equal society?

3. Look at the second panel in Figure 1 (with Gini index on the y-axis). Describg::

1949.

Test your knowledge...

1. Income inequality and wealth inequality are two separate but related conce

links there might be between them?

2. Why would looking at the Lorenz curve for a country be more informative t£

coefficient?

Extended-response question

1. Look at Figure 3. Based on this data, and your own knowledge, discuss the

economic development and inequality.
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Will Raising the Minimum Wage Har

This case study requires knowledge of Section 4.1.6.6 — the nation

The basic economic theory concerning a Figure 1
national minimum wage (NMW) is quite simple — Hourly

imposing such a wage will lead to disequilibrium in wage rate
the labour market and unemployment among low- 1
skilled workers, as shown in Figure 1.

In light of this, George Osborne’s plans to introduce Wi
a ‘living wage” might seem misguided — surely it
will just lead to unemployment? The current plan is We f---------
to increase the NMW for over-25s to £7.20 an hour
in April 2016, ramping up to £9 an hour by 2020
(partly offset by cuts to benefits). The OBR (Office
for Budget Responsibility) estimated that .
employment would fall by 60,000 by 2020 as a result —
of the policy, although this estimate is very
uncertain.

So, what does the empirical evidence suggest about the link between a Nl\
UK? The consensus among researchers is that since its introduction in 195
resounding success: it has effectively reduced wage inequality without cat:
(in a poll of experts, the NMW was voted the most successful UK governm

However, we have to be careful before interpreting this to mean that Geor
equally successful — there has been some evidence that the NMW has had
employers in terms of lower profits, shorter hours for employees, higher
non-wage benefits such as pension entitlements, for example. .

Furthermore, even though the NMW has increased more quickly than ave:
abig jump to £9 an hour in 2020 could be enough to cause noticeable uner;;
level of the NMW is important: one way researchers have looked into this |
of the NMW in the UK with other countries: =

Figure 2: NMW as a percentage of median earnings for full-time worke
71%
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54% 54%
° 277 51% 51% 49% 48% 48% 47% 46

% 45% 45% 45% 4005 4

>V

A & QO @ A O & 2 & Q¥ IR X
2 < A\ \3 (&) Ay N\ \}
/\0& Q@Q 0&”’0 (;é'b (&%\@@0 e>°3° O&O 0‘00 Qooéb &\é‘ &?o \o*%{- (@“ < o\"’(\‘\o"”o o
S’\z © <° ¥ & RS é&?’ o RS F &
S Y @ o
N

A Level AQA Data Response Case Studies: 4.1 Microeconomics Page 17 of 37

i
"
&‘\‘\\‘\“\\‘\\;\&\\\\‘Q\\

i
s

L

e
-
.’y

HE
,—-

i,
i

G

&X\\\\\\X\\\
s

S

b
S

&\\\\\\\\\\\\\ﬁ

e

i

o
\\\\\\\\\‘\\

i

o

i

gt

i

i

2

¥

i
i

i

COPYRIGHT
PROTECTED

g

0g

Education |




The size of the NMW as a percentage of median earnings is a measure of i
UK is fairly average in this regard compared to other OECD (Organisatio
and Development) countries at 46%, although this figure is higher among
those in low-skilled occupations. If the NMW were to increase significant
New Zealand, for example) it is much more likely that this would lead to
France is widely criticised as being damaging to employers.

Figure 3 shows the percentage of UK jobs paying the minimum wage, var
The number of people affected by the NMW is another important factor i
economy.

Figure 3: Characteristics of minimum wage jobs, UK, 2014 -
0 2 4 6 8 10 12
! ; ) ; ; ; L
UK o
4 Part-time
g Fuiltire
§ Tamporary
2 Parmaneny
8 Less than 12 months
& More than 12 months
3 Private sactor
5 Public Sector
& Noreprotit
@ Kicra
@ Othwyr stnall
& Meadium
';; Large
&
& Low-paying cooupations,
g Non jow-paying ccoupations
£ Love-paying industries
& Nor lowpaying Industries
s 1 1 { t i T
¢ 2 4 8 8 10 1.
Jobs paving at or below the minimum wage
S

In summary, the NMW has been a highly successful policy in raising livin
since predicting the effects of a change in the NMW is so difficult, the gen
should be wary of raising the NMW very rapidly, to avoid a potential un

Use the data

1. Look at Figure 2. If the UK’s NMW in 2009 was £5.80, calculate the median
workers.

2. Lookat Figure 1. How would the level of unemployment change in responsi
and supply for unskilled workers were price elastic?

Test your knowledge...

1. The NMW wage rates for workers aged 21+ in the UK over time are as follo

Year 2011 2012 2013 2014 2015 201

NMW £6.08 £6.19 £6.31 £6.50 £6.70 £7.

*Predicted, ages 25+

(a) Compare the growth rates in the NMW from 2011-2015 with the grow:

(b) Based on the article, does the government’s proposed policy fit with t
should be gradual?

Extended-response question
1. Evaluate the extent to which introducing a National Minimum Wage will in

A Level AQA Data Response Case Studies: 4.1 Microeconomics Page 18 of 37
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Is There a Shortage of Tea

This case study requires knowledge of Section 4.1.6 — the la

In the UK, around 19% of workers are in the public sector, over half of wh:
NHS. On average, working in the public sector pays better than the priva
The main explanation for this is that public-sector workers are, on averag
sector workers (and most of the lowest paid jobs are in the private sector)

Figure 1: UK median full-time gross weekly earnings, public and private

~g-~Public sector

- Private sector

%
- —————— - -, 3
?

1997 1999 2001 2003 2005 2007 2009 A
Source: ONS Annual Survey of Hou%

Data is nominal (i.e. not adjusted for inflation).
Dotted lines show different estimates of the data in 2006, 2008 and 2011.

Recently the government has struggled to recruit
sufficient levels of staff in the public sector,
particularly teachers. This varies by area and subject,
with maths, business, science and English teachers in
especially short supply (although others have a
surplus, e.g. art and PE). More challenging schools are
the worst off (since teachers would usually choose to
work in better-performing schools, given the choice),
and schools in expensive areas in the south-east are
also affected as house prices rise. Schools are having
to spend significantly more on supply teachers to plug
gaps in staff and recruitment agency fees to hire good
teachers. In a few cases, pupils are having to travel
between two different schools in a day for teaching,

A Level AQA Data Response Case Studies: 4.1 Microeconomics Page 19 of 37
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This is in spite of the fact that the number of teachers in the UK is at an all |
problems seems to be the rising numbers of pupils (see Figure 2), and alsc :
has led to more alternative employment options for graduates. s
=
Flgurg 2: Pupil numbers in England, 1947-2015 (millions) \\\\
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One option for the government could be to increase the pay of teachers to
Teachers currently earn between £22,244 and £32,831 per year depending \
(this is higher for London where the cost of living is higher). The governn: \\\\\\Q‘
Service initiative offers financial incentives to attract high-calibre teachers:: \Y‘\
performing areas of the UK, while introducing national tests for seven-yea . \\\\

///,;/‘%,

/

However, a study by the National Foundation for Educational Research (I
those leaving teaching went on to lower salaries — so perhaps offering high
effective in this case. Furthermore, at a time when the government is tryi
spending, higher spending on teachers would be costly.

Use the data

1. Look at Figure 1. This figure shows median weekly earnings. Would you ex
different if mean weekly earnings were used instead?

2. (a) Look at Figure 2. Given that changes in pupil numbers usually reflect ¢

identify roughly where the ‘baby boom’ period in England was from th

(b) How would you expect the number of state-funded secondary-school
years?

COPYRIGHT
PROTECTED

Test your knowledge...

1. (a) Based on the article, explain how geographical immobility of labour m
teachers in certain areas. (9
(b) Name two other factors that affect the supply of teachers. :

o3

Education |

2. Using a demand and supply diagram, show how there might be a shortage ¢
government is too low. o

Extended-response question

1. Discuss the effectiveness of the government increasing the salaries of all te
increase the supply of teachers.
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Trade Unions in the UK

This case study requires knowledge of Section 4.1.6 — the lai

The presence of trade unions is an important feature of many labour mar
unions include the BMA (British Medical Association), several teachers’” us
NASUWT) and the National Union of Miners. '

Figure 1

A
Wage rate

Supply

~_ 7

Demand = MRP

»
>

Qp Qr Quantity of workers

Critics of trade unions have argued that they create unemployment by for:
levels (in the diagram, Qr — Qo would be unemployed workers). Having t

equilibrium can damage the profitability of firms and reduce their compet:

On the other hand, it could be argued that belonging to a trade union incr

since workers respond positively to being paid a good wage. Also, a trade
related problems to managers more effectively as a bloc, allowing the firn*%
Trade unions can be particularly effective in overturning the market powe:
over the past few decades, declines in membership might suggest that the |

unions is dwindling.

Trade unions in decline

Figure 2 show the decline in the trade union “density” in the UK over time
employees in a trade union). The steady fall reflects a similar trend in othe:

the USA.

Figure 2: Trade union density in the UK, 1995-2014
34%

32%

\\\\\

N

o \\\\\\\\ -

30% SRR
E

28%

NNy

26%

24%

TU membership, % of all
employees

22%

20%

Source: Departn

1995 1996 1997 1998 1999 2000 2001 2002 2003 2004 2005 2006 2007 2
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Based on data for 2014, trade union membership is more prevalent in Wal
(30-35%) and less prevalent in the south-east of England (15-25%). Public
more likely to be unionised (over 50%) than private sector workers (aroun

The wage gap between union and non-union workers is about 21.6% in ths:
private sector. This indicates that despite their decline, trade unions still ré:

However, part of this wage gap could be due to characteristics of trade un
more experienced and productive on average.

Use the data

1. How might a trade union help solve the problem of discrimination in the lak:

2. Using only the information from Figure 2 and the next paragraph (based on
more employees — the public or private sector?

Test your knowledge

1. Using a diagram, show how an increase in the marginal productivity of work

market in Figure 1.

2. Explain the term ‘monopsony’ in the context of a labour market.

Extended-response question

1. Assess the importance of having effective trade unions in reducing income i
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For-profit Universities

This case study requires knowledge of Section 4.1.8 — the market mechanism,
intervention in markets.

The global market for higher education has been going through
some major changes in recent years, with a rise in e-learning and a
much higher proportion of young people going to university than a
generation ago.

In the UK, the vast majority of universities are still not-for-profit
organisations funded by the government. There are a few

exceptions including the University of Law and BPP University,
but critics argue that introducing a profit motive in higher education leads

In contrast, the US has seen a strong rise in private, for-profit universities
greater choice for students, it is argued. However, the US’s Department f¢
clashed with certain private colleges over allegations that they have been
In May 2015, Corinthian Colleges, who ran 107 campuses across the US, w
the DOE cut off its funding. Private colleges in the US have some access t¢
US, particularly to support student loans (80% of annual revenues in Corit
was rescinded after the college was found to be misleading students abou
programmes and trapping students with massive debts of up to $75,000 a

Figure 1: US for-profit colleges: revenue from government 2013/2014
Revenue from government Nuni

> 90%

85-90%

80-85%

70-80%

60-70%

50-60%

40-50%

30-40%

20-30%

10-20%

0-10%
Total colleges

R R

The problem of bogus colleges is high on the agenda in the US after it was
Trump University (of Donald Trump, the infamous Republican presidenti:
over 5,000 students out of (collectively) millions of dollars. At the time of
Some commentators have argued that the US government has not been ne
intervening in the market, by continuing to fund colleges that have been a
behaviour, substandard practices or illegal activity’, to the tune of several

The government has to be careful in these instances in order to protect stu
perhaps also to ensure that for-profit colleges are innocent until proven gu:
would argue that the US government should have done more to regulate {:
from happening in the first place. .
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UK university data
Figure 2 shows the rise in the number of students going on to study at uni
‘discontinuity” (break) in 1994 reflects the inclusion of former polytechnic

Figure 2: Students obtaining degrees in the UK each year (thousands)

360 A
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Data not collected during WWiIl.

As a percentage of the whole population, total participation in higher edu.

3.4% (1950), 8.4% (1970), 19.3% (1990), 33% (2000), and 46% (2014 — althou
account for students who do not finish their degrees). The proportion of
level has consistently exceeded that of men.

Use the data

1. Look at Figure 1. In which bracket would the median school receive its gov

2. Look at Figure 2. Estimate the proportion of university degrees awarded in .

polytechnic universities. (Assume that the number of students getting first
polytechnic universities remained unchanged between 1993 and 1994.)

Test your knowledge...
1. Explain the difference between public- and private-sector organisations.

2. Explain how the concept of ‘asymmetric information’ can be applied to the

3. State one advantage and one disadvantage for students of allowing for-prof:

Extended-response question

Source: Education: Historicé

1. In 2012, the government introduced a cap of £9,000 a year for tuition fees. ;|

universities might charge less to attract students, but it turned out that alm

full £9,000. Discuss the pros and cons of allowing universities to charge any::
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The European Competition Cot

This case study requires knowledge of Section 4.1.8.7 —com

Government intervention can play an important role in keeping
markets competitive and fair. Many issues are dealt with by
national competition authorities, but in an increasingly globalised
world, many cases are trans-national. In the European Union, the
European Commission is responsible for dealing with these cases.
This case study looks at a few examples of recent cases looked into
by the European Commission.

Action against steel dumping
The European Commission has been investigating so-called “dumping’ o
primarily by China (and partly by Taiwan). China has subsidised steel p
domestic needs, undercutting EU prices by around 10%. The Commissi
competitive, and imposed anti-dumping duties on the imports as a result.;.

China may have been trying to force EU steel producers out of the market.
succeeding. In the UK, thousands of jobs have been lost in the steel indus
Figure 1 shows how China’s growth in exports may have come at the expé:

Figure 1: 10 largest steel exporters 2012/2013

Exports

Country Rank Million tonnes
(2013) 2012
China 1 510
Japan 2 41.1
EU 3 37.8
South Korea 4 294
Ukraine 5 24.0
Russia 6 26.5
Turkey 7 18.4
USA 8 12.8
Taiwan 9 10.3

India 10 74

Other 379
Total world 296.7

European Commission block Ryanair merger with Aer Lingus _
Companies often find it mutually beneficial to merge —it allows a compart
share and greater economies of scale, among other benefits. However, i
unfair concentration of market power in the hands of one company.

On these grounds, the EU blocked Ryanair’s proposed merger with Aer L
The two companies had already been prevented from merging in 2007 for
relatively rare: the Commission has given the go-ahead to 12 other mergex:
The Commission’s argument is that Ryanair and Aer Lingus compete di
if Ryanair acquired Aer Lingus, it would effectively have a monopoly ov

A Level AQA Data Response Case Studies: 4.1 Microeconomics
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Is Google restricting competition?
In April 2015, the European Commission argued that Google was promot
shopping services unfairly on Google searches, at the expense of competit

since Google controls a massive 90% of the web-search market in Europe. i

Google has strongly opposed the Commission’s findings, and it will prob .

case is resolved. In traditional sectors such as gas and electricity, compan:
rivals” products — but there is less of a precedent in the Internet search bu
process.

The US’s Federal Trade Commission (a similar body to the European Comn
charges on Google over the same issue — and President Obama suggested
in the matter was intended to protect the interests of European tech comp

be restricting competition, the Commission has the power to fine them up:;

year’s turnover, although any eventual fine is unlikely to be that high.

Use the data

1. Using Figure 1, calculate China and Taiwan’s combined share of steel export;

percentage of the total in:
(a) 2012
(b) 2013

Test your knowledge...

1. Canyou think of another big market, similar to steel, where a producing co
to try to undercut its rivals?

2. Explain the concept of regulatory capture with reference to the US’s Federa
(note: Google is a US company).

Extended-response question

1. Suppose that the merger between Ryanair and Aer Lingus was not blocked b
Examine what the expected effects would have been on prices, consumer ¢
allocative efficiency in the market.
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Mark Scheme: extended-response questions

10 marks

Answers

Knowledge (2), application (2) and analysis (2)

No relevant answer given.

A few concepts may be identified correctly, but inconsistently, an

Level 1 1=2 thought behind the causes and effects.

Level 2 3.4 Some knowledge of economic concepts is shown, partially linked
reasoning skills, but may focus too much on one side of an argum

Level 3 Knowledge of the economic concepts is very accurate. Links to th

examples. Analysis is well reasoned and Ioglcal and appropriate

No evaluation.

Limited attempt at evaluation — may be only loosely related to the

Level 1 1-2 .
reasoning.
Accurate, balanced evaluative comments are made, supporting a
Level2 | 3-4 | 7€ ' de co de, supporting
directly to the question.
12 marks

Knowledge (2), application (2) and analysis (4)

No relevant answer given.

A few concepts and examples may be identified correctly, but ma\é '

Level 1 1=2 Absence of thought behind the causes and effects.

Level 2 35 Some knowledge of economic concepts is shown, partially linked
reasoning skills, but may focus too much on one side of an argum

Level 3 Knowledge of the economic concepts is accurate. Links to the qu

Evaluation (4)

examples. Analysis is well reasoned, logical and appropriate for t

No evaluation.

Limited attempt at evaluation — may be only loosely related to th

Level 1 1-2 . .
reasoning and evidence.
Accurate, balanced evaluative comments are made, supporting a
Level2 | 3-4 | i pporting
directly to the question.
15 marks

No relevant answer given.

A few concepts may be identified correctly, but inconsistently, an

Level 1 -3 thought behind the causes and effects.

Some knowledge of economic concepts is shown, partially linked
Level 2 1-6 . . .

reasoning skills, but may focus too much on one side of an argum
Level 3 Knowledge of the economic concepts is very accurate. Links to th

examples. Analysis is well reasoned and Ioglcal and appropriate

No evaluation.

Limited attempt at evaluation — may be only loosely related to th

Level 1 1-2 .
reasoning.
Lovel 2 3.4 Clear evidence of evaluative comments, though they may be unfa
argument. Reasoning / supporting evidence is provided but may
Level 3 56 Accurate, balanced evaluative comments are made, supporting a

directly to the question.
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20 marks

Knowledge (4), application (4) and analysis (6)

No relevant answer given.

A few concepts may be identified correctly, but inconsistently, an

Level 1 1-3 .
thought behind the causes and effects.
Some knowledge of economic concepts is shown, partially linked
Level 2 1-6 . . . .
incomplete or basic reasoning skills.
Good knowledge of the relevant economic concepts is displayed,
Level 3 7-10 evidence to support the main arguments. Analysis is well develop
side of an argument.
Leveld | 11-14 Knowledge of the economic concepts is very accurate. Links to th

Evaluation (6)

examples. Analysis is well reasoned and logical, and appropriate

No evaluation.

Limited attempt at evaluation — may be only loosely related to th

Level 1 1-2 .
reasoning.
Level 2 3.4 Clear evidence of evaluative comments, though they may be unfa
argument. Reasoning / supporting evidence is provided but may
Level 3 5.6 Accurate, balanced evaluative comments are made, supporting a
directly to the question.
25 marks

Knowledge (4), application (4) and analysis (8)

No relevant answer given.

A few concepts may be identified correctly, but inconsistently, an

Level 1 14 thought behind the causes and effects.

Level 2 5 g8 Some knowledge of economic concepts is shown, partially linked
incomplete or basic reasoning skills.
Good knowledge of the relevant economic concepts is displayed,

Level 3 9-12 | evidence to support the main arguments. Analysis is well develop
side of an argument.

Levela | 13-16 Knowledge of the economic concepts is very accurate. Links to th

Evaluation (6)

examples. Analysis is well reasoned and logical, and appropriate

No evaluation.

Limited attempt at evaluation — may be only loosely related to the§

Level 1 1-3 .
reasoning.

Level 2 46 Clear evidence of evaluative comments, though they may be unfa
argument. Reasoning / supporting evidence is provided but may
Accurate, balanced evaluative comments are made, supporting a

Level 3 7-9 ’ d © » SUpporting

directly to the question.
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Case Study 1: Creative destruction in the business world
Use the data
1. (a) The completed table is:

i

Portions sold 0 10 20 30 40 50
Price per unit 10 9 8 7 6 5 = R \
Cost of rent and electricity 60 60 60 60 60 60 \\\\
Wage bill 0 30 30 60 60 105 |& i \\\\
Cost of buying ingredients 0 30 40 45 60 50 \\\\\ \“
Total cost 60 [ 120 | 130 | 165 | 180 | 215 \\\\
Average total cost N/A | 12 6.5 | 5.5 \\
Average variable cost N/A 6 3.5 | 35 §\ \\
Marginal cost N/A 6 1 3.5 = Jo
Total revenue 0 90 | 160 | 210 § \\
Average revenue N/A 9 8 7 \\\ \\\\\
i 5
Marginal revenue N/A 9 7 5 &\\\\\\\%
(b) The diagram should look roughly like the Price 20 \\X\ s
one on the right. 18 §\\\\\\\\
(c) According to the diagram, the profit- 16 % ‘%
o . \\\\\\
maximising level of output is at roughly 44 14
units (MC=MR). 1 s \\
\\
10 \\\\
8
6 a
& &
TR/TC goo 4 § ~§
700 / LIS, @\\\\\\\\
0 T T T = \\ Q\\\\
B S
0 10 20 30i \E\
25 \®
(d) The diagram sho \\\\\\\\\\
left. 5

(e) According to this%
7S N of output is rougt
P N (c). (Note that if

0 10 20 30 40 50 60 70 80 90 100 in increments of
would have beer§;

Quantity

Test your knowledge... :
1. (a) The only fixed cost is the rent/electricity column (this does not vary with quang
cost, you could state either wages or cost of ingredients (1). -

(b) The law of diminishing returns is the idea that increasing one input while hold
steadily smaller increases in output (1). In the context of Figure 1, this could

that need to be hired — each new worker contributes less to output than the |

COPYRIGHT
PROTECTED

2. The minimum efficient scale is the point where long-run average costs are minimiseé
gains from economies of scale are maximised. =

Extended-response question =

1. Interms of revenues, it is likely that a luxury tea shop would face falling revenues i
spend less in a recession, perhaps because they are saving money / paying off debt
further by explaining that luxury tea is likely to have a high income elasticity of dem
recession), demand will fall by a disproportionately large amount.

'3

o3

Educaﬂoné

In terms of costs, this really depends on how the firm responds to the fall in demans
which would reduce variable costs. Alternatively, it might switch to providing lowe
reduce variable costs. Thirdly, the owners might choose to accept a temporary fall
a fall in costs (remember, normal profits are counted as a cost of production). So e
demand will trigger a fall in costs, for one or more of these reasons.
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Case Study 2: The stock market — perfectly competitive?
Use the data

1. (a) InSeptember 2015 the share price plummeted due to the emissions scandal.

more sellers than buyers — investors were trying to get rid of their shares bef:

(b) In April 2015, the share price was around €240, so 500 shares would have be

the share price had fallen to around €80, so 500 shares would have been wo

€80,000. (Accept 70,000 — 90,000 to account for different readings of the gr

2. A bear market occurs when the stock market falls by at least 20% from its peak. 2
to fall to 6,800 to be considered a bear market.

Test your knowledge...
1. Typical examples include: the market for agricultural goods or the foreign exchang

2. Your diagram should look something like the one on
the right. The demand/MR/AR curve is horizontal (1),
equilibrium occurs at price P and quantity Q (1),
where AC is at its lowest point at a tangent to the
demand curve (1). The marginal cost curve goes through
this equilibrium point (1).

Revenue/Costs

Extended-response question
1.  Characteristics of perfect competition include:

- Many buyers and sellers, none of whom are large
enough to influence the price (firms are price-takers).
This is definitely true of the stock market, there are
millions of buyers and sellers, and prices are governed
entirely by market forces.

- Low barriers to entry/exit. This is probably true of the
stock market — anyone can start buying and selling stock, although many inv
to pick stocks for them.

- Perfect knowledge of prices. This is true of the stock market; prices are freel
updated frequently. However, some traders have been accused of (unfairly)
takes to receive market data, which would violate this characteristic. Read F
interested (or maybe read a summary of the book).

- Products are homogeneous — this is true of the stock market, a share in one
as a share in another.

Case Study 3: Supermarket wars

Use the data

1. From Figure 1, in 2013 the four-firm concentration ratio was roughly 75%, in 2015
2.5 percentage points (2—3 acceptable). This is almost exactly how much Aldi and

2. Your diagrams should look roughly like this. According to the article, Aldi has lower:;
curves will be shifted down. If both firms maximise profit (i.e. produce where MC
Pa, which is lower than Tesco’s price of Pr.

Tesco
Revenue/Costs Revenue/Costs

Pa |

Quantity

A Level AQA Data Response Case Studies: 4.1 Microeconomics Page 30 of 37

i
"
&‘\‘\\‘\“\\‘\\;\&\\\\‘Q\\

e

QQ@\\\\

=

“

a
g

s,
\\

e

i

S
s

-

i

A

&
o

i

o

9

g

i

e

////@

7

COPYRIGHT
PROTECTED

'3

o3

Education




Test your knowledge...
1.

Extended-response question
1.

Case Study 4: Inertia in the energy market
Use the data

1. (a) 59% (1)
(b) 92% (1)
2. (a) The article states that the share of independent energy suppliers in the marke
2009, which would suggest increasing competition.
(b) Figure 2 shows that the difference between prices and direct costs of product
suggesting that the Big Six firms have made large profits. This would be consi
(notably, direct costs of production fell in 2014 as oil prices fell, but prices sta
3. Asymmetric information about energy tariffs.
Test your knowledge...
1. (c) Oligopoly (1)
2. Vertical integration is when several stages of supply are owned by the same compa

Extended-response question
1.

(a) Economies of scale are when a firm’s average costs of production fall as outp
(b) Possible economies of scale for supermarkets include: discounts for bulk buyi
special machinery), specialisation (workforce concentrate on one task, increa
economies of scale, financial economies of scale (access to credit), and any ot
mark for each type identified.

Some characteristics of the two market structures you could discuss include:

- The number and size of the firms (the market is still dominated by a few big s
ratio is falling as Lidl and Aldi compete)

- Stability of prices (price wars make the market look more like monopolistic co
prices are usually stable)

- Barriers to entry (still more like an oligopoly: difficult to establish customer baii
fixed costs) :

- Interdependent firms (this is still more like an oligopoly: look at Christmas pri

- Product differentiation (Aldi and Lidl have differentiated themselves quite a b
terms of the store layout, although their products are still similar. Product dif{y
monopolistic competition and oligopoly, although not all oligopolies have this

factor that makes it more difficult for other firms to compete in the market (1). Ve
entry because it makes it cheaper for firms to generate energy (1) (because they d
energy wholesaler). It would be very difficult for a newcomer to compete with firms

The benefits of this idea would be that new entrants would increase price competi
prices for consumers, leading to a welfare gain. A subsidy would help new entrant
the market (e.g. vertical integration, high fixed costs, building up a brand, etc.). Ho
drawbacks/limitations of this policy you could mention:

- The main drawback is that this policy does not address the underlying cause o
information. Perhaps a government information campaign on the benefits of
addition/alternative to this policy.

- Another option could be to cap the prices of tariffs that penalise consumers w:
cheaper way of limiting market power than a subsidy

- Subsidies are expensive: opportunity cost in terms of government spending

- The size of the subsidy would have to be calculated correctly for new firms to

- Subsidies can introduce inefficiencies in firms that become reliant on them
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Case Study 5: Diamonds are forever
Use the data
1.

Test your knowledge...
1.

2.

Extended-response question Loy
1.

Case Study 6: Contestability
Use the data
1.

2.

A natural monopoly is characterised by incredibly high fixed costs: it would be une
{e.g. railways, water company). This is no evidence that this is the case in the diam¢
because De Beers controlled the rights to the largest mines, not because it had unus

Oligopoly: the five-firm concentration ratio in Figure 1 indicates that the market is

Without accounting for inflation, the flat line from around 1982 onwards would ins
Unsurprisingly, diamond companies looking to attract investors will usually show t
in Figure 2!

A monopsony exists when there is a single buyer of the factors of production in a m3
acceptable). De Beers acted as a monopsony because it employed almost all the dii
century.

(a) Supernormal profit is any extra profit above normal Revenue/
levels of profit (1), since normal profits are counted as Costs A
part of costs. Alternative answer: the amount by which
total revenue exceeds total costs (1).

(b) Your diagram should look roughly like this. The
monopoly produces where MC=MR (1), leading to a
price of Pm and a quantity of Qm (1). Supernormal
profits are shown by the shaded area. (1). 1 mark for
labelling axes, 1 mark for showing cost/revenue curves
correctly.

Possible benefits include:

- Benefiting from greater economies of scale (1). This
lowers costs, potentially allowing for lower prices (1).

- Greater profits/revenues allow for research and
development (1), this could potentially improve
outcomes for consumers through better products (1).

- Cross-subsidisation (or price discrimination) (1) could allow for monopolies to
to consumers that may not have been available otherwise (1) (e.g. airlines su
revenues from business class tickets).

Other benefits are possible for the marks if they are well justified.

The key thing to remember about natural monopolies is that the
marginal and average cost curves are continuously downward-sloping
in the long run due to economies of scale, as the diagram on the right
shows.

An industry might turn out to be a natural monopoly if it is too costly
for others firms to enter the market. For example, the rail network is
a national monopoly, since it would be prohibitively expensive for a
new firm to build a whole new set of railway tracks. It would also be
inefficient if another firm entered the market, since then neither firm
would be able to reach as low an average cost (i.e. there would be a
loss of productive efficiency).

According to the article, the regulatory process is a barrier to entry.

The total number of competitive routes is 525, and the total number of flight route
make up 31.1% of total routes.

75% of 380 seats is 285, so the total cost is 285*69 =5$19,665.
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Test your knowledge...
1. Possible features include: no barriers to entry and exit, no sunk costs, no competiti
firms have access to the same technology (1 mark for each).

2. Sunk costs are any costs that cannot be recovered if the business fails (e.g. money

Extended-response question
1. For this question, you should go through the characteristics of a contestable marke
automobile market has these characteristics:

- There are certainly barriers to entry in the automobile market. Incumbent fir
breaking into this market would be costly. Furthermore, incumbent firms can
production, something that would be hard for new firms to overcome. -

- There would be large sunk costs in the automobile industry, as there would be
up a production facility, for example.

- There may be some competitive disadvantages for new firms, perhaps related
automobile manufacturers are transnational).

- New firms may not have access to the latest technology available to other fir

These considerations suggest that the automobile industry is mostly uncontestable
entrants. However, you could argue that the industry is contestable in the sense t
certain areas of the market if one firm raised their prices too much (e.g. luxury cars
there is so much variation between automobiles (product differentiation) that ther
be innovative and capture some of the market.

Case Study 7: The economics of inequality

Use the data

1. Thisis not a perfect measure of inequality, because (a) it only measures the top 5%
other groups, such as top 10% or top 1%), (b) it is pre-tax (the picture might chang
is accounted for) and (c) it only measures income (it ignores wealth, which is anoth

2. (a) The graph indicates that the US is an unequal society: a large proportion of th
levels of income, below the mean. The fact that mean income is significantly
indicator that income is skewed towards the top end of the distribution.

(b) This would probably look more like a bell curve / normal distribution curve, i.
clustered near the middle, and smaller proportions at the ‘tails’ (top and bott

(c) Inthis case, one person/household would have all the wealth: so there would i
$250,000 category.

(d) Inthis case, everyone would have exactly the same amount of income (the m
going to 100% in the $70,000 to $79,999 category.

3. You should first recognise that a higher Gini index indicates higher inequality {(you
The trend indicates a fall in inequality from 1949 to around 1977, followed by a ste
onwards.

Test your knowledge

1. A country experiencing high income inequality is likely to also experience high wea
income might be converted into savings {or wealth). (1)

2. The Lorenz curve shows the precise distribution of income over each percentile of ti}
coefficient is just the ratio of the two areas (one above and one below the Lorenz cii

Two countries could have different income distributions (Lorenz curves) but identi
Lorenz curve gives a broader picture of income inequality than the Gini coefficient.
Note: The Gini coefficient is known as a ‘summary statistic’ — it only contains a sma
a useful tool for comparing different countries quickly.

Extended-response question

1.  From Figure 3, you should recognise that the USA, Germany and Norway are highlyi
Romania are somewhat developed, and Haiti is a low-developed country. The pict
development is, therefore, mixed: on the one hand, Brazil and Haiti are clearly muc
Norway: this could indicate that inequality decreases as a country develops. You ¢
might be the case, e.g. less corruption, more progressive tax system, etc.
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Case Study 8: Will raising the minimum wage harm employment?
Use the data

5.8

1. If £5.80is 46% of the median hourly wage, then the median hourly wage is Y]

2.  If the demand and supply for unskilled workers were more elastic, this implies that
more responsive to price changes. Therefore, the introduction of a NMW would le
unemployment than shown in Figure 1.

Test your knowledge...

1. (a) Youranswer should note that the growth rates between 2016 and 2020 are cc

Extended-response question
1.

Case Study 9: Is there a shortage of teachers?
Use the data
1.

However, the USA is considerably more unequal than Romania, which contradicts t
reasons why developed countries become more unequal, e.g. rate of return on we
rate (Piketty’s argument), more free-market orientated government policies, tax a

You can conclude that inequality increases with development or decreases with de
unclear) as long as your reasoning is well supported.

2011 and 2015, perhaps using some of the calculations below:

6.19-6.08 .
The annual growth rates between 2011 and 2015 are: ~eos X 100=1.8

(2011-2012), 1.9% (2012-2013), 3% (2013-2014), 3% (2014-2015). Over the.\
10.2%. (1)

By comparison, the annual growth rates between 2016 and 2020 are around
is the same each year), or 25% over the whole period. This is considerably hig
higher between 2016 and 2020 (1).

(b) Based on the article, the 25% increase in the NMW over the period seems ver
which suggests that there is a higher risk that it will lead to unemployment (1)

There’s lots of material in the article to draw on for this question. Your answer shos:
Figure 1 —the traditional model of how a NMW leads to disequilibrium in the labou
some of the main evaluation points you could discuss include:
- Level of unemployment depends on elasticity of demand and supply of labou
- Level of unemployment depends on how much higher the minimum wage is a
how high the NMW is compared to median wages). .
- Level of unemployment depends on how many people are affected by the mir§
- You could argue that it would boost employment, as it would allow some peo'z'§
afford to / were better off on benefits (this will depend on the country).
- Depends on the capacity of employers to absorb higher labour costs. :
- Depends on whether the economy is performing well or not: if the economy IS
unemployment, it might make matters worse. -

Median earnings are calculated by taking the ‘middle value’ of everyone’s earnings
of salary, the median value would be the middle person’s salary). The mean value
by the total number of people.

The mean value should be higher, since those who earn higher salaries can earn m
those who earn lower salaries than the average will only earn slightly less. Therefo
mean earnings were used. This is why it is usually considered fairer to calculate m
If you have trouble visualising this, consider this example: %
Person 1 2 3 4 5
Salary £20,000 £24,000 £26,000 £32,000 £42,0
Mean = £47,000, median = £32,000.

(a) The ‘hump’ in Figure 2 shows the effect of the baby boom during the 1960s. E}

(b) We can see from Figure 2 that the number of primary-school pupils is rising s
number of secondary-school pupils will see a similar rise in a few years as the
secondary school.
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Test your knowledge...

1. (a) Geographical immobility of labour is when various factors constrain
the ability of people to move to where jobs are located (1). In the
case of teachers, the passage mentions that high living costs in the
south-east / London may prevent some teachers from working in
schools in these regions (1).

(b) Other possible factors include: wage rates in other occupations,
strength of the economy, job satisfaction, working hours, non-
wage benefits, scope for promotions, qualifications needed,
geographical mobility of labour, etc. 1 mark for each factor stated.

2. Your diagram should look something like the one on the right. The wage
set by government (W1) is below the market wage (We) (1), leading to a
shortage of Qs —Qq (1). 1 mark for labelling axes, 1 mark for supply and
demand of teachers.

Extended-response question
1.  Your answer should first explain how raising the wage would attract more teachers
labour (you could refer to your diagram in question 2 for this), and how it could he
labour and/or attract better-quality teachers. There are a number of disadvantage
you could mention:
- The success depends on the elasticity of supply for teachers. If supply is inela

to train new teachers), a wage increase will be less effective in attracting new i

- Raising the wages of all teachers ignores the fact that some areas/subjects ha
(it would be counterproductive to raise the wages of teachers for subjects wh
example).

- The article states that wages may not be the most important factor in determ
teachers are leaving the profession to work in jobs with lower wages, so perh
non-wage factors instead.

- The effectiveness of the policy depends on the size of the wage change (too gis

excess supply — which is a problem in itself!), and on the wage rates in other
- Opportunity cost of raising the wage, in terms of government spending.

Case Study 10: Trade unions in the UK

Use the data

1. Discrimination in the labour market may occur in the form of lower pay for certain
gender, or some other factor. A trade union should resolve this problem, since it g
each of its members.

2. According to Figure 2, in 2014 25% of employees were in a trade union. Since 15%
trade union but over 50% of public sector workers were in a trade union, this indic
larger (if the public sector were larger, the percentage of employees in a trade uni
then 15%).

Test your knowledge
1.  Your diagram should show a shift to A
the right in demand / marginal Wage rate

revenue product (1), resulting in a new

equilibrium wage and quantity (1)
(note: this doesn’t have to be exactly /

the same as the diagram shown: your Wy
shift could be bigger or smaller). 1
mark for labelling axes, 1 mark for Weg [----=-------1-----

labelling curves.

2. A monopsony is a single buyer of a
product (1). In the case of a labour
market, a monopsony occurs when
only one firm hires workers in that
sector (1). An example would be the

R . - p——

jo]
©
L

market for civil servants: the
government is the sole employer.

A Level AQA Data Response Case Studies: 4.1 Microeconomics Page 35 of 37

i
"
&‘\‘\\‘\“\\‘\\;\&\\\\‘Q\\

e

PN

&

S
s
)
.y

B

G

|

&X\\\\\\X\\\
s

HE

i
L

&\\\\\\\\\\\\\ﬁ

e

i

A

&
o

i

o

i

o

i

.

i

£

7"

2

i

COPYRIGHT
PROTECTED

'3

o3

Education




Extended-response question

1. There are two main sides to this: on the one hand, strong trade unions improve incé

workers receive fair incomes and that certain groups of workers are not discrimina
from exploiting workers.

On the other hand, if trade unions are very dominant in the labour market then th
firms can no longer afford to hire as many workers. In this case, income inequality
people have lower incomes.

So, to evaluate this question, the effect of trade unions on income inequality will d
- whether there is high income inequality to begin with (in this case, trade unio
- whether there is a monoposony employer

- how many workers the trade union covers

- whether employers can afford to absorb higher wage costs

- whether trade unions create higher unemployment

Case Study 11: For-profit universities

Use the data

1. There are 1,947 schools in total, which means the median school is number 973 (o
bracket (or down from the > 90% bracket) it is clear that the 973"/974% school bel

2. In 1993, around 80,000 students obtained a first-time degree from normal universi
increase to around 220,000. If the number of degrees from normal universities did
degrees came from polytechnics. Therefore, the proportion of degrees from polyt
way to account for different readings from the graph.)

Test your knowledge...

1.  Public sector organisations are funded and run by the government (1) (either centr
schools, hospitals, they are usually not-for-profit). In contrast, private-sector orga
individuals or companies (1) (almost always for profit).

2. Asymmetric information is a situation where one party has better knowledge abou
(1). In the for-profit university market, the colleges have better knowledge of how
graduates for getting good jobs. Prospective students have less information on thi
information problem comes from (1).

3. The main advantage for students is that they have greater choice about the univer
argue that for-profit universities will increase competition in the market, leading to
education (1).

Possible disadvantages are that quality of education will be lower (1) or that stude
universities (1).

Extended-response question
1. If the cap were scrapped, we would probably expect at least some universities to r
since so many charge the maximum amount now).

On the one hand, this would allow universities to generate more revenue, which ¢
the quality of their education. It might also resolve the problem that universities f
£9,000 fee, or it suggests that their courses are of a lower quality than their rivals:

Overall, the market mechanism should, in theory, mean that the ‘price’ (fee) of eac :

reflects the benefits it gives to the individual, otherwise they would go to another

However, there are also possible downsides to this policy. It would probably add t
consider to be unfairly high at the moment anyway. Students also face asymmetri
university, since it’s difficult to tell just how good/useful the teaching will be (open
so far). Universities might still feel the need to bump up prices to give the illusion
government more in student loans, a large proportion of which is often never paid

This is quite a complex topic: forming policy on university fees is very tricky. At the

economists agree that completely scrapping tuition fees is a bad idea, since the ‘pr

a university degree (in terms of higher future wages) generally exceeds the cost of
studied, of course). So it would be an unfair burden on society if the government
education.

Note: you won’t need to know any details of this topic for your exams, but it shoulgs

anyway!
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Case Study 12: The European Competition Commission
Use the data
1. (a) In2012:(51.2 +10.3)/296.7 * 100 = 20.7%

(b) In2013:(57.8 +11.3) /294.8 * 100 = 23.4% e

o

QQ@\\\\

=

“

a
g

Test your knowledge...

1. This is exactly what happened in the oil market (at the time of writing in late 2015
Saudi Arabia are allegedly cutting prices to try to force their rivals (e.g. US shale oil ;
are some signs that they are considering abandoning the strategy, however. ‘

2. Regulatory capture is when an independent/government body appointed to regulay
the industry instead of acting in the public interest (1).

e

This may or may not have applied to the US’s Federal Trade Commission’s dealing

incentive would have been for the Commission to rule in favour of Google, given G § \
contributes to the US economy (1). \\\ \\\\\

&

Extended-response question E
1. Had the merger gone ahead, Ryanair would have had a monopoly on air travel ov SRS
would have increased. Consumer choice would have fallen, as consumers no long \\\%\\\\‘\\\
S

Ryanair and Aer Lingus. Ryanair’s profit would almost certainly have increased (ac
monopoly), as it would be able to charge a higher price for the same routes. Alloc
equal to marginal cost. If Ryanair had a monopoly, they would probably charge pr
would be allocative inefficiency / a reduction in allocative efficiency. Given that al
everyone except Ryanair — it seems like a good idea that the European Commissio
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